000000 0000 Hy: ¢o=100000 Hy: <0

Model 1: vy = dyi—1 + €

Model 2:  y =a+ dy—1 + € (00oo0)
Model 3: y:=a+ft+oy:—1+€6 (0OOO0DOOOOOO)

t0o0oon
Model 1 Model 2 Model 3

ooo (T) \ oood 0.01 0.05 0.01 0.05 0.01 0.05
25 —2.66 —195| —3.75 —-3.00 | —4.38 —3.60

50 —2.62 —-195| —3.58 —2.93 | —4.15 —-3.50
100 —2.60 —-1.95| —3.51 —2.89 | —4.04 —-3.45
250 —2.58 —1.95| —3.46 —2.88 | —3.99 —3.43
500 —2.58 —1.95| —3.44 —2.87 | —3.98 —3.42
0 —2.58 —1.95| -343 —-2.86 | —3.96 —-3.41
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000000 0000 Hy: p=1(000000) 00000 H: p<0(0DOOODO)

googo

g

Model 1:  y14 = Y2y2: +Y3Y3t + ** * + YnYnt + w0 Ay ~ 1
Model 2:  yi1t = a4+ Yay2e + V3yse + - + Yoyt + w0 Ay~ 1

Model 3:  y1: = o+ Yay2r + Y3yse + -+ + YnYnt + w0

wO u, 000000000000000000000000

p=1000
(0)O Ut = PUr—1 + €
(O)D U = PUL—1 + €

Ay — 6 ~I1(0)0 wp = pug—1 + €&

t+00000 (T = 500)
Model 1 Model 2 Model 3
0000 (m—1)\DDOO | 001  005| 001 005| 001  0.05
1 —339 —2.76 | —3.96 —3.37 | —3.98 —3.42
2 —3.84 —3.27| —431 —3.77 | —4.36 —3.80
3 —4.30 —3.74 | —473 —4.11 | —4.65 —4.16
4 —4.67 —4.13 | —5.07 —4.45 | —5.04 —4.49
5 —4.99 —4.40 | 528 —4.71 | —5.36 —4.74
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